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For each of the following questions, choose the most appropriate answer from the
following choices. (% 104% > #4834 > £ 30 4 )

The morpheme [ness], as in happiness, is
(A) free, lexical

(B) bound, inflectional

(C) free, derivational

(D) bound, derivational

Which of the following phonological rules is obligatory in the English language?
(A) dentalization

(B) epenthesis

(C) vowel lengthening

(D) deletion

Which of the following words starts with an alveolar, contains a main mid vowel, and ends with a
voiceless stop?

(A) derail
(B) blossom
(C) zodiac
(D) garrulous

For the following group of sounds [p], [k], [J], [W], [/], [g], which sound does NOT belong to the
natural class?

(A) [w]

(B) [p]

(©) [g]

(D) [S]

The sentence We saw three stars tonight is
(A) structurally ambiguous

(B) a synthetic sentence

(C) a contradictory sentence

(D) an analytic sentence
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Which of the following sound change involves the process of dissimilation?
(A) /nam6/ [namo]

(B) /fifBs/ [fifts]

(C) /sel/ [sedl]

(D) /histort/ [histri]

Speech sounds can be scaled according to their degree of sonority. Which of the following classes is
the least sonorous?

(A) Nasals

(B) Vowels

(C) Voiceless stops

(D) Liquids

The major difference between an oral and a nasal sound is the raising or lowering of the
(A) soft palate
(B) nasal cavity

(C) hard palate
(D) epiglottis

Which of the following pairs holds the semantic relationship of converse?
(A) hot/cold

(B) father/son

(C) Jack is a bachelor./Jack is married.

(D) John sold a car to Mary./Mary bought a car from John.

The study on how people perceive and discriminate speech sounds is called
(A) Phonology

(B) Perceptual phonetics

(C) Neurolinguistics

(D) Applied linguistics

Explain the following terms only in English with an illustrative example. Your
example can be either in English or in Chinese. (% 548 > 46 & » ¥ 30 &)

subcategorization
peripheral learning
affective filter hypothesis
formative assessment
bottom-up reading model



I11. Answer the following questions either in English or in Chinese. ( % 4 4 » & %% 10
& X408 )

1. The following sentence “They said she would go yesterday.” is structurally ambiguous. First,
paraphrase it in two different ways to show your understanding of the ambiguity involved, and then
draw the two phrase structure trees representing the two meanings of the sentence in terms of the
X-bar theoretical framework.

2. Community Language Learning (CLL) is a method developed by Charles A. Curran and his
associates. What are the characteristics of CLL from the perspective of humanistic techniques and
counseling learning theory?

3. Discuss the distinctive features of the Audio-lingual Method and the Communicative Approach.

4. In English learning, it is very natural for students to make mistakes. Discuss your opinion about
student errors and teacher’s error correction.



